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Twentieth International Mathematics Contest (Taiwan)
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1. The value of 12+ % +4 is not equal to which of the following calculations.

1 11 1 oL

<fZ{7>
Ly LD T VL P
12+-+4 12X5X4 12 e 12~(5><4)
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<fE45>

3 % w vk i £ 4x3=12

H XTI gz At poai R R
B 12 2% o Ao

3. TR BERRF LSS A w8 E OIS AT TR O A4S Ao ¢ E R
1] P> ik 8 B 32 (A)4 (B)S (C)6 (D)7

<fE$7>

21:45-9:15-1:00=11:30

11 FF 30 £ =690 4~

690+115=6(i#) » & C -

4. 73FEF 100 % > 11 3FHF § 200 % > 4455 4333 EH I £ & 50
29(A)700 (B)800 (C)900 (D)1000

<fE$7>

100+7x14=200

200+11x33=600

200+600=800 - ¥ B -

50 %GRy A2 Agot 650 ¢ f 4 AdE 6244 2REG FUAY
(A)520 (B)1045 (C)1144 (D)1254

<fEf7>

624+-6=104

104x5=520

520+624=1144 > i C -

6. F B FRE 0~ J\ﬁﬁiﬁﬁ'ﬁiuls DA ok EE AT k21 2
AIORF RS E R 224 22 kg & 50 A 482(A)33 (B)34 (C)35 (D)36

<ﬁ’¢ﬁ>

2.15x2=4.3

4.3+2.1=6.4

224+6.4=35> % C o
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7. The diameter of circle A is 4 cm and the radius of circle B is 6 cm. What 1s the area ratio of
the two circles? (A)4:6 (B)4:12 (C)1:6 (D)1:9

<jZ{7>

&gzt =2:6=1:3

o ff - =1x1:3x3=1:9 » E Do

8. BB s B H % _’rs’73§i§ s he% BB 289 R 0 - A £ 50 A2 (A)364 (B)374
(C)384 (D)394

<fz 45>

289+3 2=289x—=85

289+85=374
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<fE$7>

FR=FF+1+5 5+l

BRH=%F+5F+5 %5 —> BBE=5F+5 F+5 5 -1

FFH1+HF FHl=5 F+F F+F F -]

% %=3> 8 B=3+1+3+1=8 4 £ 83=5>3F C o

BLEflen- L BB S ESRES 1A
B g

w55 SR (A3 (BM(O)S (D)6
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11. FPAL At 8 5 B 5.6206 =32 P PF > Fﬁ'—%-«)é%i Nyt H N EXE 200 Rk
FEenE % 8§ % 52 (A)8.7588 (B)7.7588 (C)8.7578 (D)7 7578

<ﬁz+fr>

[ +5.6206=20

[ =14.3794

14.3794-5.6206=8.7588 » i A -

12E 3R aR =510 ~ > BAHF >3 BFET L 15 XFL£200~ & 57
MR F] Sl FACR? (A)27 (B)28 (C)29 (D)30

<jE$7>
PEE & gk T LE
200+10=20 20 20
20+3=6...2 6 6+2=8
8+3=2...2 2 2+2
4+:3=1...1 1 1+1

B % 20+6+2+1=29 5T » £ C o
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13. What is the sum of all the numbers of natural numbers 1, 2, 3, ...,9998, 9999? (ex. The sum
of 37 numbers is 3+7=10) (A)18000 (B)180000 (C)36000 (D)360000
<jZ{7>

0,1,2,3,4,5,6,........ 9996 9997 9998 9999 #c% fr
L 36 L
\ 36 /
36

#ic fr="—"=180000 - i B -
14. 4o @ > F 5 B3 =252 (A)25 (B)26 (C)27 (D)28
<fiz47>
&= A5(1)=17
I A5(4)=8
B2 A5(9)=2

£ 4 17+8+2=27 % » & C -

15. = 5K 4Eeplied 3 - Renl o del f BT B RS e N

4 6 ? 9 1 8

13 17 15 23 7 21
(A)3 (B)5 (C)9 (D)6

<jzie>

4x2+5=13

6x2+5=17

O%x2+5=23

[ ]x2+5=15[ =5 E B -

16. +HEd - BE 252 - BHAHEHE X > RSHER L2 81 cm?

(A)18 (B)19 (C)20 (D)21
<fz45> S| p
&AL [x[(]=81 - [1=9 5
F 25 hF 1 (915X 12=144 > [ =12 144 em
B S=9+12=21+ & D - T5em
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17. &% Z #5100 ~ 200 ~ 300 ~ 400 ~ 500 ~ 600 & » — &= &+ A Hcfs » 07
PRAE-Ge ~ fs 0 RV R0 B892 (A)11 (B)26 (C)31 (D)51

<fE$7>

£=200-100=100 » #x Z #RE=—

Fen=1-~2-~4-~5~10~20~25- 50\100

Al n=1- £=100 - #>]=100 ~ 200 ~ 300 ~ 400 ~ 500 ~ 600 (6 72 )

Al n=2 > £=50> #7[=100 ~ 150 ~ 200 ~ 250 ~ 300 ~ 350 ~ 400 ~ 450 ~ 500 ~ 550 ~ 600(6+5x1=11 %)

Al n=4 > £=25> #7]=100 ~ 125 ~ 150 ~ 175 ~ 200 ~ 225 ~ 250 ~ 275 ~ 300 ~ 325 ~ 350 ~ 375 ~ 400 ~

425 ~ 450 ~ 475 ~ 500 ~ 525 ~ 550 ~ 575 ~ 600(6+5x3=21 %)
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T

100

Bl n=5 > £=20 #5|=100 ~ 120 ~ ~ ~ ~ (6+5x4=26 77)
Bl n=10 > £=10 > #5|=100 ~ 110 ~ ~ ~ ~ (6+5x9=51 77)
Bl n=20 » £=5 #5|=100 ~ 105~ ~ ~ ~ (6+5x19=101 7 )
Bl n=25 > £=4 > #5]=100 ~ 105~ ~ ~ ~ (6+5x24=126 7 )
Bl n=50 » £=2 > gﬁj 100 ~ 102 ~ ~ ~ ~ (6+5x49=251 7))
1]

251=100 ~ 101 ~ ~ ~ ~ (6+5x99=501 77 )

18. 5 = B F+ e Higs RHcchT o b 8L F 2?7 (A)4(B)S (O)6 (D)7
<fz+47>

Lh g FHBE1~3-5-7-9~11

H T 398=(1+3+5+7+9+11)+6=36+6=6

6-1=5> % B -

N o WO R |

RIHEBARE . e T - BRAEIfod 2324 Z 55 B2 (A1 (B)2(C)3 (D)4
<fE$7>

2 +a =23

4+5=9

7+8=15

10+11=21

Bt 2d 5 1B E A

20. 7~ ANz BT 2 fryR A 1S B P - BT L8
PEF S5 E AT aREABEF? (A4 (B)6 (C)3 (D)9
<fZ$7>

*=9 & 73£D°
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21. The figure on the right is composed of 6 semicircle arcs (& [f]5%)

and 6 i arcs(®). If the diameter is 3, what is the area of the gray
part in square units? (A)9 7 (B)27 (C)30 (D)12 7

<fZ$7>

TN RS R R E ey
5 f=3xx6=27 > B -

22.% & n FEEk nl=nx(n-1)x(n-2)x(n-3)x-++--- x3x2x1 » G4 41=4x3x2x1 » B x!=6!x7! > R
x=2 (A)13 (B)9 (C)10 (D)42

<fZ$7>

x!=TIx6x5x4x3x2x1=71x8x9%10=10! > R x=10

i#Co

2 2? Los Ak gE & L aA

23,87 252252275227 L 30 % A3 € 3 100010007 (23=2x2x2=8)
(A)4 (B)5 (C)101 (D)1001
<fz47>
@10001000:(103)1000
@ ai=2

a;=2°=2x2=4

as=2%"=2"=16

as=24=216=210x26=1024x64=65536

a5:2a4:265536:(210)6553X26:10246553X26>(103)6553X64>(103)1000
% 53 s E Be

24. Refer to the diagram, the area of quadrilateral ABCD is 120 square
units, ED=2AE, BF=2FC. G and H are midpoints of BE and DF, H
respectively. What is the area of the shaded quadrilateal EGFH? (A)30
(B)35 (C)40 (D)60
<fZ$7>
Qe #25 EBFD=2(xty)
2 1835 ABCD=3(xty)
— 1 i§7) EBFD=3x= i§7) ABCD=-x120=80

@u i#7) EGFH=a+b
w 89} EBFD=2(a+b)
— 1w 7 EGFH=xw i§ 2} EBFD=3x80=40
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2540 FH0om o d b R R - TORER S ZRA & [ B

Ber o ] FIAOF 20 BEc: 02 (A)599 (B)699 (C)799 (D)899

<izfe> 49 |€D| 53| 55|57 |59 6l
3+7~19~31~51~71~99+ 127~ 163 ~ 199 4717 [@] 21 | 23 | 25 | 63
ar=7 as 15| 1 |Q®] 5 [27]65
as=T7+12x2 431311 ]9 [(@D]29] 67
ag="7+12x2+20%2

as=T+12x2+20x2+28x2=7+2x(12+20+28) 41139 |37 35|33 | €D| &9
10=T+12X2+20X2+28x2+36x2=T+2x(12+20+28+36) S S RN NN RAR (@)

a20=T+2x(12420+28+.. .+b9):7+2xwz7+9x(24+64)z7+792:799
ECo

= RS AR5 A R 504 0 R R T FEAS)
1, S kfz Az RPE 1~60 5 BEF ~ 52 23 ERIERPN Tl 3”7

B4 EF 204
21 £ 2 5% 25 & (5+20)
2. F - BESMPE B RAE B AGE30 04 V25 28 20 24 0 A
— ks REKERLT A BEE - BEE L 16 DA D S REH > kI
TEENR? FEENRFEhavkG 5 EAD

<jaie>
30x25x(20-17)=750x3=2250
16x16x16=4096

4096>2250 — -k ¢ % &1 %k

% 0 RE £ =4096-2250=1846(F )

v A& A6 E &)
Taiwan Preliminary (Grade 6)



